ASS. REC. BY: Tauplin | REF: C3/(T121004161/719, f3. COE 2030 Jan ASSIGNMENT SJV 3982L Yr Regn: 240, Fan Veh No: From: Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover / Estimated Cost: Truck / Trailer or OD TP WS ITP RES I OD RES I EVA I INV I MY Make: To Inspect Vehicle No: Colour at Workshop m/s T/Radio: Insured / Std / NI / NA Sb.Reading Eng/No: Insured: MRO53BK 410705 3794. C/No: Policy No. Gen. Cond: Good / Fair / Poor / Burnt Claims No. Steering: Inorder / Jammed / Leaked / Burnt or Excess: Sum Insured: Brake: Inorder / Jammed / Leaked / Burnt or (Client's Record) Modi: NII / S/R/m / STD A/Rim or /6 MU 6-Make of Veh: Tyre Size: (Policy Condition) BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI / OIS NIS Remark: The veh had commenced its repair at the time of inspection. Rear Front Bal, or Market Value: R/Bal. R/Bal. Consistent? : Yes or No IDAC Accident Rport: UBal. ∐Bal. Consistent?: Yes or No GIA / PR Seen: D.O.I. D.O.A. Res.: Yes or No days Est. Repairs: Survey held at 3 Val.: Yes or No Lum Sum: Des. of Damages (FIR) Rear | O/S | N/S | U/C | Rooftop or CA / REV / REP. / 24 HRS Vehicle: IN / OUT The U/C / Chassis frame / Body Structure affected due to collision. Person Contacted: Action / Instruction Date / Time Japanv Days Of Repair: Dale/Time, File Pass to? : Preli. Report Survey Fee: Resurvey No. of Trip: : Final Report Transportation: Date/Time, File Return to? : Site Insp (\$ 8. + RS. Add Fee: Interview (\$ Photos Tech. Invs (\$ riffiers Repeat Formar: Weellend (% Lump Sum / LB.1: (% 77.761



Rico 60 Auto Services Pte Ltd Blk 8 , Kaki Bukit Avenue 4 , #02-24 Premier @ Kaki Bukit Singapore 415875

Email: claims@rico60.com Tel: 6286 6060 Fax : 6286 7060

TO: BUDGET DIRECT Vehicle No : SJV 3982 L Make & Model : TOYOTA CARMY

DATE: 27/3/2021

RICO Office Use Only

Parts -%25	
SN	
Labour	
TOTAL	
LUMSUM	
ERV	20K

NI.	DECORPTION DARTO	OTY		WIT PRIOR	PRIOR
No.	DESCRIPTION - PARTS	QTY	U	NIT PRICE	PRICE
1	BONNET	1	\$	1,705.80	\$ 4-1,705.80
2	BONNET RUBBER SEAL	1	\$	120.00	\$ th- 120.00
3	BONNET INNER RUBBER SEAL	1	\$	114.00	\$ × 114.00
4	BONNET INSULATOR	1	\$	349.40	\$ < 349.40
5	BONNET INNER LOCK	1	\$	221.70	\$ 64- 221.70
6	BONNET HINGE	2	\$	177.40	\$ Ry 354.80
7	BONNET ABSORBER	2	\$	288.00	\$ × 576.00
8	FRONT GRILLE	1	\$	693.00	\$ 093.00
9	FRONT GRILLE BADGE	1	\$	67.30	\$ ~ 67.30
10	FRONT GRILLE TOP GARNISH	1	\$	166.80	\$ × 166.80
11	FRONT GRILLE BRACKET	1	\$	85.00	\$ × 85.00
12	FRONT BUMPER	1	\$	671.90	\$ cmg 671.90
13	FRONT BUMPER SIDE RETAINER	2	\$	98.00	\$ 04/196.00
14	FRONT BUMPER CAR PLATE GARNISH	1	\$	142.70	\$ de / 142.70
15	FRONT BUMPER REINFORCEMENT	1	\$	527.90	\$ 66 527.90
16	FRONT BUMPER SPONGE	1	\$	159.70	\$ cm / 159.70
17	FRONT BUMPER LOWER GRILLE	1	\$	256.00	\$ 4 256.00
18	FRONT BUMPER FOG LAMP	2	\$	322.40	\$UG 644.80
19	FRONT BUMPER FOG LAMP COVER	(2	\$	123.70	\$4 247.40
20	FRONT BUMPER FOG LAMP COVER CHROME	2	\$	89.00	\$ 🛚 178.00
21	FRONT BUMPER UNDER COVER	1	\$	317.00	\$ h ~ 317.00
22	HEAD LAMP	2	\$	1,389.80	\$04/2,779.60
24	HEAD LAMP LOWER BRACKET	2	\$	141.50	\$ × 283.00
25	FRONT FENDER TOP GARNISH	2	\$	166.20	\$ × 332.40
26	FRONT FENDER INNER SHIELD	2	\$	198.00	\$ fn ~ 396.00
27	SUPPORT PANEL	1	\$	1,116.60	\$ @> 1,116.60

28	HORN	2	\$	111.00	\$ 🛚 222.00
	BRACE PANEL	1	\$	112.30	\$ 57 / 112.30
-	FRONT AIR DUCT	1	\$	179.40	\$ × 179.40
	AIR CON CONDENSER	1	\$		\$ \$\tau,949.80
	CONDENSER SIDE ARCH GARNISH		\$	1,949.80	1.
		1	\$	90.00	
	CONDENSER AIR CON PIPE		\$	298.00	
	CONDENSER SUCTION PIPE	1		311.40	\$ × 311.40
55.275	CONDENSER DISCHARGE PIPE	1	\$	355.20	\$ × 355.20
27.2.3.143	RADIATOR	1	\$	2,570.30	\$ × 2,570.30
	RADIATOR FAN COWLING	1	\$	311.00	\$ × 311.00
	RADIATOR FAN MOTOR	2	\$	411.00	\$ < 822.00
	RADIATOR FAN BLADE	2	\$	133.00	\$ × 266.00
	BATTERY BRACKET	1	\$	64.00	\$ 64.00
41		1	\$	1,086.30	\$57-1,086.30
	BOOTLID LOGO	1	\$	92.50	\$19 92.50
43	BOOTLID EMBLEM (CAMRY)	111	\$	95.70	\$ 495.70
44	BOOTLID EMBLEM (2.4)	1	\$	85.40	\$ 40 85.40
45	BOOTLID OUTER GAENISH	1	\$	479.80	\$au 479.80
46	BOOTLID CARPLATE LAMP	2	\$ /	79.80	\$ [×] 159.60
47	BOOTLID REFLECTOR	2	\$ /	Z4X 494.60	\$240 989.20
48	BOOTLID INNER LOCK	1	\$	354.90	\$61/354.90
49	BOOTLID LOCK CATCH	1	\$	46.00	\$ [×] 46.00
50	BOOTLID WEATHERSTRIP	1	\$	298.00	\$cut / 298.00
51	BOOTLID INNER TRIM	1	\$	311.50	\$ × 311.50
52	BOOTLID STOPPER	2	\$	35.00	\$ ^ 70.00
53	BOOTLID LOCK DETECTOR	1	\$	327.50	\$ \$ 327.50
54	BOOTLID LOCK DETECTOR WIREHARNESS	1	\$	552.00	\$ 552.00
55	BOOTLID HINGE	2	\$	217.30	\$ RY 434.60
56	REAR BUMPER	1	\$	727.60	\$ 2727.60
57	REAR BUMPER SIDE RETAINER	2	\$	120.00	\$ de 240.00
58	REAR BUMPER REFLEXTOR	2	\$ /	R4X155.40	\$24wg 310.80
59	REAR BUMPER REINFORCEMENT	1	\$	459.50	\$47/ 459.50
60	TAILLAMP	2	\$8	⊬× 643.70	\$ ^{LH} 1,287.40
61	TAILLAMP LOWER BRACKET	2	\$	55.00	\$× 110.00
62	REAR FENDER INNER TRIM	2	\$	358.00	\$ × 716.00
	REAR FENDER INNER SHIELD	2	\$	154.40	\$ × 308.80
	REAR END PANEL	1	\$	756.30	\$ 66 756.30
	REAR END PANEL TOP GARNISH	1	\$	324.40	\$ all 324.40
	REAR FLOOR PANEL	1	\$	918.10	\$ 918.10
	REAR FLOOR PANEL TOP BOARD	1	\$	455.60	\$ 27 455.60
	REAR EXHAUST SILENSER	1	\$	1,211.00	\$ 1,211.00
	REAR EXHAUST MOUNTING	2	\$	45.00	
US	INLAN LANAOST WOOMTING		φ	45.00	\$ 00.00

70	REAR EXHAUST HEAT SHIELD	1	\$	189.00	\$	189.00
				Subtotal :	\$	33,831.70
				Less 25%	•	8,457.93
			- 1	Parts Total :	\$	25,373.78
NO.	SPECIAL NETT	QTY	UN	IIT PRICE		PRICE
1	FRONT GRILLE CLIP SET	1	\$	40.00	\$ 2	on 40.00
2	FRONT BUMPER CLIP SET	1	\$	50.00		one 50.00
3	FRONT BUMPER UNDER COVER CLIP SET	1	\$	40.00	\$ 100	
4	SUPPORT PANEL SEALANT	1	\$	80.00	\$ ×	
5	RADIATOR COOLANT	1	\$	50.00	\$ X	
6	FRONT NUMBER PLATE WITH BASE	1	\$	80.00	\$45	ht-80.00
7	FRONT FENDER INNER SHIELD CLIP	1	\$	40.00		are / 40.00
8	FRONT FENDER SIDE GARNISH CLIPS	1	\$	40.00	\$	40.00
9	BATTERTY	1	\$	300.00	\$ >	300.00
10	REAR BUMPER CLIP	1	\$	50.00	\$ 30	50.00
11	REAR BUMPER UNDER COVER CLIP	1	\$	50.00	\$30	ver 50.00
12	BOOTLID INNER TRIM CLIP	1	\$	40.00	\$ <	40.00
13	TAIL LAMP CLIP	1	\$	30.00	\$ 1	30.00
14	REAR FENDER INNER TRIM CLIPS	1	\$	60.00	\$	60.00
15	REAR FENDER INNER SHIELD CLIP	1	\$	50.00	Ψ	50.00
16	END PANEL SEALANT	1	\$	80.00	\$4	
17	END PANEL TOP GARNISH CLIPS	1	\$	30.00	\$ 10	30.00
18	REAR FLOOR PANEL INSULATION SEAL	1	\$	120.00	\$ 7	120.00
19	REVERSE SENSOR	1	\$	450.00	\$20	450.00
20	REVERSE CAMERA	1	\$	500.00	\$	500.00
21	REAR EXHAUST CHROME HEAD	1	\$	300.00	\$ /	300.00
	LABOUR (ERONT)	SPEC	IAL I	NEII	\$	2,480.00
	LABOUR (FRONT)					PRICE
PAN	IEL BEATING, REMOVAL AND REPLACING PARTS		50	00 food	\$	1,600.00
TO	SPRAY PAINT AFFECTED AREA	1	60	0. 1200.	\$	1,600.00
TO	PERFORM LIGHTING & WIRING CHECK			30	\$	100.00
TO.	APPLY ANTI-RUST & TUFF KOTE			30.	\$	200.00
	MOVE AND INSTALL RADIATOR AND REFILL COOLA	ANT AI	ND H	liGH	\$	180.00
REN	MOVE AND INSTALL CONDENSER AND REFILL AIRC	ON G	AS		\$ 6	180.00

LABOUR (REAR)		PRICE
PANEL BEATING, REMOVAL AND REPLACING PARTS 900	\$	1,500.00
TO SPRAY PAINT AFFECTED AREA	\$	1,500.00
TUFF COAT 300	\$	200.00
WIRING CHECK 30.	\$	50.00
REMOVE AND REFIX CUSHION SEAT AND INTERIOR TO FACILITATE GO.	\$	350.00
REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING 30	\$	150.00
REMOVE AND REFIX REVERSE CAMERA	\$	150.00
REMOVE AND INSTALL REAR EXHAUST	\$	350.00
TRANFER BOOTLID MECHANISM \mathcal{E} $>$	\$	150.00
CONDUCT WATER LEAKAGE TEST	\$	100.00
LABOUR TOTAL	. \$	8,360.00
Total Parts Cost	\$	27,853.78
Total Labour Cost Total Repair Cost	\$	8,360.00 36,213.78
Total Nepall Cost	Ψ	30,213.70

APPROVED DETAILS
NO. OF WORKING DAYS
PART BY PART OR LUMP SUM
DATE & TIME OF SURVEY
SURVEYED BY
CONTACT NUMBER
FAX NUMBER

Taufhi 27495746
W/ 31/4/210 1245
U/5 Rosny apper uspert.
49 deys,
farfhri @ [Wanto.com.

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary it and must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	130C
Vehicle No.:	SJV3982L
Vehicle to be Exported:	No
Intended Deregistration Date:	29 Mar 2021
Vehicle Make:	TOYOTA
Vehicle Model:	CAMRY 2.0 AUTO ABS AIRBAG
Primary Colour:	Silver
Manufacturing Year:	2009
Engine No.:	1AZE159495
Chassis No.:	MR053BK4107053794
Maximum Power Output:	108.0 kW (144 bhp)
Open Market Value:	\$27,271.00
Original Registration Date:	25 Jan 2010
First Registration Date:	25 Jan 2010
Transfer Count:	1
Actual ARF Paid: Intended PARF Rebate Details	\$27,271.00
PARF Eligibility:	Forfeited
PARF Eligibility Expiry Date:	•
PARF Rebate Amount: Intended COE Rebate Details	\$0.00
COE Expiry Date:	24 Jan 2030
COE Category:	B - Car (1601cc & above)
COE Period(Years):	10
PQP Paid:	\$39,463.00
COE Rebate Amount:	\$34,805.00
Total Rebate Amount:	\$34,805.00

The information contained herein is correct as at 29 Mar 2021

SGCARMART.COM

Login Sign up

New Cars

Used Cars

Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources





\$1900/mth Toyota Harrier



\$47R/wk Toyota Noah Hybrid L.8A



BMW 5 Series 520i

Toyota Camry

Price Range

➤ Depreciation ➤ > 10 year(: ➤ Vehicle Type

Home » Used Cars » Bestauto Motoring » Toyota Camry 2.0A (COE till 10/2029)

Toyota Camry 2.0A (COE till 10/2029)

Overview

Financial

Accessories

Similar

Research

Photos

Мар

PREMIUM AD

Price

\$53,888

Depreciation

\$6,270 /yr

Reg Date

04-Nov-2009

(8yrs 7mths COE left)

Mileage

N.A.

Manufactured

2009

Road Tax

\$1,452 /yr

Transmission

Auto

Dereg Value

\$32,221 as of today (change)

OMV

\$27,271

COE

\$37,502

ARF

\$27,271

Engine Cap

1,998 cc

Power

108.0 kW (144 bhp)

Curb Weight

1,530 kg

No. of Owners

Type of Vehicle

Luxury Sedan

Features

View specs of the Toyota Camry (2006-2012)

Description

Just Arrived, Most Popular Luxury Toyota Camry. Well Maintained. View To Believe, \$0 Drive Away, Loan Guaranteed Approved. All Bad Credit And Exbankruptcy Welcome. High Trade In. Act Fast, Don't Miss It. Call Now For More Detail.

Category

COE Car, Premium Ad Car

Status

Available for sale. Shortlist this car to get alerted whenever the price or availability changes.

Resources



Vehicle Evaluation

Afraid of lemons? Request to have this car evaluated professionally. Find out more



Car Valuation - Free

Find out the market value of your existing car for free. Get started

Posted on: 09-Mar-2021 | Last Updated on: 09-Mar-2021



Transfer Fee

\$25

Down Payment \$16,166 (change) Maximum 70% Loan

.

\$551 Based on 2.48% interest rate

Get your loan approved now in 60 seconds. T&Cs apply. Learn More

\$16,742 Check with seller for exact figure

















Compare Report Error

Shortlist More

Seller Information

Bestauto Motoring

15 vehicles for sale, 12 sold in past 3 mths

Premier @ Kaki Bukit Search cars nearby

Kelly

» more Emancial info

OCBC Bank

85859495 🕲 96117118



SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- The least report <u>contects</u> the declars of the accident to speed up the claims process.
 This Form must be <u>completed by the Policyholder and/or the Authorised Driver</u>
 Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies. 5. Any false reporting may be referred to the Police for investigation.
- 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission Date of Accident **Exact Location of Accident** Additional Location Information Country/State of Loss

29/03/2021 17:29 (SGT) 26/03/2021 19:00 (SGT) KPE, Singapore KPE (ECP) BEFORE AIRPORT ROAD EXIT Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SJV3982L

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner

NRIC No **Email Address**

Mobile Phone No Alternative Phone No No

TAN SENG KIONG SXXXX130C

enquiry.0224@gmail.com (Phone) +65-92287467

(Home) +65-92287467

VEHICLE PARTICULARS

Manufacturer

Model

Variant

Exact purpose for which vehicle was being used at time of

accident

Are you claiming under your own insurance policy for repair to your vehicle?

Vehicle Category Transmission

CC

Toyota Camry

Private use

No - Claiming third party

Private car Auto

1998

INSURANCE COMPANY

Name of Insurance Company

Type of Coverage Fleet Policy Policy Number Cover Note Number China Taiping Insurance (Singapore) Pte. Ltd.

Comprehensive

No

DMPCSNVV00006322101

DRIVER

Name of Driver NRIC No

TAN SHAN LEONG SXXXX135J



Date Of Birth Occupation

Date Of Driving Pass

Driving experience

Gender

Mobile Number

Alt. Phone Number

Email Address

Address

Address complement

Postcode

Is the driver the policyholder?

If No, Relationship of the Driver with the Insured

Does Driver Own Other Vehicles?

Vehicle Registration Number of Other Vehicle Owned by Driver

Insurance Company of Other Vehicle Owned by Driver

15/05/1994 Outdoor

28/08/2015

5 YEARS AND 7 MONTHS

(Phone) +65-92287467

enquiry.0224@gmail.com

BLK 865 TAMPINES STREET 83

#12-211

520865 No

Child

No

GENERAL INFORMATION OF THE ACCIDENT

Type of Accident Weather Conditions

Road Surface

Chain Collision

Clear Dry

OTHER INFORMATION

Was any foreign vehicle involved in the accident? Number of vehicles involved in the accident

Was anybody injured in the Accident?

Was any injured conveyed to hospital by ambulance? Was any other material or property damaged? Number of Passengers (Including Driver)

Has the driver been approached by unknown person(s)

soliciting/offering accident claims assistance?

No

2 Yes

Yes 2

No

PASSENGER 1

Name Gender **LEUNG HOI CHONG**

Female

DETAILS OF POLICE ACTION

Was the accident reported to the police? Was notice of intended Prosecution given? If yes, against whom?

No No

CIRCUMSTANCES OF ACCIDENT

REFER TO STATEMENT

ATTACHMENT(S)

Are accident photos available for attachment? Was there any video captured by Car Camera?

Was there any audio recorded?

Yes No

No

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number

Vehicle Manufacturer

Vehicle Model

Vehicle Variant

Vehicle Category

Vehicle Colour

SMD6636B

Private car



Name of Driver	_
Contact Number	-
Address	-
Address complement	-
Postcode	_
Insurance Company Name	_
Nature Of Damage	-
Details of property damaged in accident	-
No. Of Passenger (Including Driver)	_

DETAILS OF OTHER VEHICLE PROPERTY 2

Vehicle Registration Number SDN2777H Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour Vehicle Category Private car Name of Driver Contact Number Address Address complement Postcode Insurance Company Name Nature Of Damage Details of property damaged in accident No. Of Passenger (Including Driver)

INJURED PERSONS DETAILS

INJURED 1

Name of injured person	TAN SHAN LEONG
Address	
Address Complement	-
Post Code	-
Approximate Age Years Old	-
Injuries Sustained	_
Injured person in which vehicle?	SJV3982L
Were seat belts worn?	Yes
Was this injured conveyed to hospital by ambulance?	No
INJURED 2	
Name of injured person	LEUNG HOI CHONG

Address - Address Complement - Post Code - Approximate Age Years Old Injuries Sustained - Injured person in which vehicle?

Injured person in which vehicle?

Were seat belts worn?

Was this injured conveyed to hospital by ambulance?

No

SKETCH PLAN

IMPORTANT NOTICE

- Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver
- Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that:

- My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s)
 - (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims
 - (ii) investigating the accident and/or my claims;
 - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
 - (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
 - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims. (collectively the "Purposes"
- all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents(Including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- (d) my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, investigation and management in present and all future claims.
- (e) the information so collected under (d) above may be shared / disclosed:
 - (i) to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or
 - (ii) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature Date & Time

Driver's Signature

(If driver is not the policyhalder) Date & Time:

NRIC/FIN No.

Reporting Centre

rsonnel's Signature

SKETCH PLAN SMD 6636 B

DESCRIBE CIRCUMSTANCES OF THE ACCIDENT

I	WAS	DRIVING	ALONG	KPE (ECP)	A3	THE V	EMICTE
7	FRONT	BRAKE	I FOL	LOWED	SUIT	. 34	DDENLY	I
FELT	AN	MPACT	FROM	THE	BACK	I	CAME	Down
AND	REA	TI 3211	WAS A	3	CAR	Ce Tri	SIGN.	VEHICLE
HAD	Cor	LIDED ON	M 07	NEH	CrE	12VAO	IC- ME	70
COL	IDE	0110 4	EHICLE	ς.				

DECLARATION

I/We declare the foregoing particulars are true in every respect.

Policyholder's Signature

Date & Time:

(if driver is not the policyholder) Date & Time:

Reporting Centre Personnel's Signature

NRIC/FIN No.: